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Monthly averaged wind velocity by MF radar at Tromsoe for February 2018

North East

mean sigma = 20.290
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mean sigma = 22.621

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 21.656

0    4    8    12    16    20    0
-100

-50

0

50

100

100km

mean sigma = 23.121
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mean sigma = 19.364
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mean sigma = 19.480
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mean sigma = 19.197
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mean sigma = 20.639

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 22.460

0    4    8    12    16    20    0
-100

-50

0

50

100

85km



mean sigma = 19.143
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Monthly averaged wind velocity by MF radar at Tromsoe for February 2018

North East

mean sigma = 15.865
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mean sigma = 9.236
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mean sigma = 7.932
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mean sigma = 7.160
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